
 

일치/불일치 특강 
 

 
 

 

Tips 
 

1. 영어 학습의 연속성을 유지 

2. 약한 문법 개념 다시 점검 가정법/명사절/관계절/도치/동사/분사  

3. 고난도 어휘 암기 시작하기 

4. 하루에 최소 5문제로 감각 유지 

5. 매주 어휘 특강 참여하기 

6. 매월 공무원 보카 왕선발 참가하기  

7. 매월 해커스 모의고사로 현주소 파악하기  

 

 

 

 

Events 
 

1. 어휘 50문제 풀이 특강/매주 금요일/Class 3/오후 6시부터 50분간 

2. 공무원 보카 왕선발/3월 27일/Class 3/오후 6시부터 50분간 

 

 

 

 

 

 

 

 

 

노량진 해커스 영어 김철용 
  



2015년 3월 일치/불일치 특강(난이도 하) 

 

1. 다음 글의 내용과 일치하지 않는 것을 고르시오.  

California redwoods are the tallest trees on the planet, with a maximum height of approximately 115 meters. While 

commercial harvesting has reduced the presence of this species, there are still redwood forests across certain areas of northern 

California. One reason for this is that new saplings can grow easily, either from a seed or from stumps and fallen branches. In 

addition, the bark of the redwood tree contains high levels of a chemical that is fire resistant. Forest fires actually benefit a 

redwood tree because they eliminate other forms of vegetation that compete for resources. The chemical content of the bark 

also makes the redwood resistant to insects and fungi that can harm or even kill trees of other species. 

① 캘리포니아 삼나무는 그 수가 상당히 증가했다.  

② 상업적 수확이 삼나무를 없애지 않았다.  

③ 산불이 삼나무가 더 많은 자원을 얻도록 돕는다. 

④ 곰팡이류 감염은 캘리포니아 삼나무에게 흔하지 않다.  

 

 

2. 다음 글에서 나타난 내용과 일치하지 않는 것을 고르시오. 

Mitch Albom was a highly regarded sports reporter in the 1980s and 1990s before beginning the motivational book-writing 

career he is most known for. Tuesdays with Morrie, his first non-sports publication, appeared in 1997. The book was a best 

seller, and a made-for-TV version of the story won four Emmy Awards in 1999. Two more novels followed: The Five 

People You Meet in Heaven and For One More Day. The latter was released as a movie in 2007. 

① Albom’s book Tuesdays with Morrie was very well received. 

② The Five People You Meet in Heaven was awarded four Emmys in 1999. 

③ For One More Day has been remade in film form. 

④ Albom is more famous as a book writer than as a sports reporter. 

 

 

3. 다음 글의 내용과 일치하는 것은? 

Arranged marriages have been practiced in India for centuries. Only the parents can approve an arranged marriage, while the 

couples themselves rarely get to voice their own opinions. Parents ensure compatibility of couples by comparing looks and 

religion, among other factors. If divorce rates are any indication of success, arranged marriages may be more effective than 

typical Western-style marriages. In fact, only around 1 percent of arranged marriages in India end in divorce. On the other 

hand, around half of all American marriages, where spouses freely choose one another, eventually end in divorce. 

① Parents do not consider looks when arranging marriages. 

② Almost all arranged marriages in India last a lifetime. 

③ Children often reject an arranged marriage. 

④ Arranged marriages are no longer practiced in India. 

 

 

4. 다음 글의 cyclists에 관한 내용과 일치하지 않는 것은? 

Cycling has evolved from an enjoyable pastime to a common method of transportation. In response to the more prominent 

presence of bikes on the road, a local Minneapolis cyclist group, Bike Friendly, has been educating bikers on how to ride 

safely. The first consideration is clothing and personal equipment. Bike Friendly states that cyclists should wear sturdy 

footwear, brightly colored clothes, and a proper helmet at all times. Cyclists should also take care to obey all traffic rules, 

particularly when riding on busy streets. Those are where the majority of accidents occur. Finally, the group works to remind 

cyclists that they are at a much higher risk of being injured in accidents with cars than drivers. Therefore, it is in the cyclist’s 

best interest to constantly watch traffic and to be aware of any potential threats. 

① They should wear appropriate apparel while riding. 

② They should always follow traffic laws. 

③ They should not ride on busy streets.  

④ They should pay attention to vehicles on the road. 

 

 

 



5. 다음 글에서 나타난 내용과 가장 일치하는 것은?  

One day a boy found his father in their garage. The father had been working in the garage all day, and there were metal parts 

and tools everywhere. The boy thought his father looked stressed, so he offered to mow the lawn. The father was so focused 

on his task at hand, though, that he didn’t hear his son. Still, the boy began mowing the lawn. After an hour of pushing the 

lawn mower back and forth over their yard, the boy felt like the grass hadn’t gotten any shorter. Frustrated, he walked back 

into the garage just as the father was finishing up his last project. Before the boy could say anything about the grass, the 

father said, “OK, now where is that lawn mower? I think I’ll put the blade back on it now.” 

① The father ignored his son on purpose. 

② The boy mowed the lawn as punishment. 

③ The boy did not realize the blade was missing.  

④ The father wanted to play a trick on his son. 

 

 

6. 다음 글의 내용과 일치하는 것은?  

Yesterday afternoon, a normal traffic stop quickly turned into a drug arrest. Philadelphia police pulled Debra Stiles over when 

they noticed her driving too fast on Terrace Drive. After searching the vehicle, they found illegal substances inside. Stiles 

informed police where she bought the drugs and led the officers to a nearby house. Police found 20,000 dollars and dozens of 

guns in the home. Philadelphia mayor Jim Reilly cited the case as proof that the city is addressing soaring crime in the city. 

① Police arrested the owners of the drug house. 

② Debra Stiles lives in a home on Terrace Drive. 

③ The police found drugs in Stiles’ car.  

④ Stiles was arrested for selling drugs from her car. 

 

 

7. 다음 글의 Sylvester H. Roper에 관한 내용과 일치하는 것은?  

In 2002, over 100 years after his death, the members of the American Motorcyclist Association inducted Sylvester H. Roper 

into the Motorcycle Hall of Fame. Roper was a talented inventor who was originally from Cambridge, Massachusetts. At the 

age of only 12, he created a stationary steam engine. Two years later, he continued to perfect his talents by constructing a 

locomotive engine even though he had never seen one before. In 1867, he made his most lasting mark by building what is 

considered one of the first motorcycles ever made. He died in 1896 while taking a ride on one of his later motorcycle models. 

① He displayed amazing abilities at a young age.  

② He was barred from entering the Motorcycle Hall of Fame. 

③ He died when he was run over by a motorcycle. 

④ He was known for racing the first motorcycle ever. 

 

 

8. 다음 글에 의하면, 사고에 대해 아직 알려지지 않은 것은 무엇인가?  

Subway service on the Yellow line between Joyce Station and Lakehead Terminal will be shut down for at least two weeks, 

according to a press release from the City Transport Authority. On July 25, a near-empty train was halfway between the two 

stations when it derailed and struck a structural column. Neither the driver nor any of the passengers were seriously injured in 

the accident and the subway car involved is still intact and functional. Nonetheless, traffic on this has been disrupted, as 

inspectors want ample time to survey any damage, find the source of the accident, and make any necessary repairs so a 

similar event does not occur again.  

① The line that sustained the accident 

② The extent of passengers’ injuries  

③ The damage to the subway car 

④ The exact cause behind it 

 

 

 

 

 

 



9. 다음 글의 내용과 가장 일치하는 것은?  

Amy and John loved touring the ruins of Tikal in Guatemalan, one of the largest ancient Mayan cities. While touring the site, 

they were able to see artifacts that date back roughly 2,400 years. They spent the entire day walking around the enormous 

ruins and never once felt bored. In fact, the only thing they regretted was not staying overnight on the grounds. Because Amy 

and John left in the afternoon, they missed the chance to watch the sunrise the following day. 

① Amy hopes to visit Tikal some day. 

② All of the ancient artifacts have been destroyed. 

③ Tikal turned out not to be very enjoyable. 

④ Amy didn’t get to see the sunrise in Tikal. 

 

 

10. 다음 글에서 나타난 내용과 가장 일치하는 것은?  

Although butter is widely believed to increase the risk of heart attacks, a recent study has provided evidence that it also has 

many health benefits. The research claims that unprocessed butter helps prevent tooth decay. The study also points out that 

butter contains a high level of Vitamin D, one of the leading nutrients in improving bone health. Because of these benefits, 

researchers concluded that it is not harmful on the whole to include a moderate amount of butter in your diet. 

① Butter can damage bones. 

② Butter reduces the chance of heart attacks. 

③ Butter promotes tooth decay. 

④ Butter is safe in small quantities. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2015년 3월 일치/불일치 특강(난이도 중) 

 

1. 다음 글의 내용과 일치하지 않는 것은? 

In recent decades, individuals from non-European ethnic backgrounds have been referred to by several different sets of labels. 

First, names based on the color of one’s skin were used for various groups: those hailing from East Asia were “yellow,” 

American Indians were “red,” and those from Latin America were “brown.” Later, hyphens were used to distinguish between 

groups, creating expressions like Chinese-American and African-American. A growing number of groups are critical of such 

hyphenated terms, however, asserting that the hyphen implies that ethnic individuals are not “fully American.” 

① Many terms have been used to refer to non-European people. 

② Color-based terms were once used to refer to racial minorities. 

③ Hyphenated racial terms started being used after color-based ones. 

④ Immigrant groups insist upon the use of hyphenated labels. 

 

 

2. 다음 글에서 나타난 내용과 가장 일치하는 것은?  

The Girl With the Pearl Earring is a highly successful novel written by Tracy Chevalier. It follows the story of a young girl 

who is forced to work as a maid to help her family escape poverty. She works at the house of a famous Dutch artist and 

becomes the subject of a painting after building up a relationship with her employer. Chevalier’s book was based on a 

character from a famous painting by the same name. The girl in the painting inspired Chevalier to write the book, as she 

wanted to imagine what the girl’s life may have been like.  

① Chevalier’s book failed to become well-known. 

② Chevalier’s book is based on a historical tale. 

③ The girl worked for the painter due to their close relationship. 

④ The book describes the life of someone in a painting. 

 

 

3. 다음 글의 내용과 일치하지 않는 것을 고르시오.  

Maurice Ravel and Claude Debussy were the two most well-known French composers of the early 1900s. Despite a long 

friendship that began early on in their lives, fans eventually caused the two composers to grow apart. Although both 

composers were Impressionists and shared many influences, fans viewed them differently. Debussy’s fans claimed Ravel 

composed without emotion, while Ravel’s fans claimed Debussy’s work was too disordered. These comments led to 

disagreements between the two composers that were never resolved. 

① The two musicians remained friends throughout their lives.  

② Ravel and Debussy were famous Impressionist composers. 

③ Ravel’s music was criticized for lacking emotion. 

④ Debussy’s music needed more order according to some. 

 

 

4. 다음 글에서 나타난 내용에 가장 부합하는 것은?  

Argentina’s 2001 economic collapse was caused by two major events. Firstly, international rating agencies lowered the 

country’s credit rating. This caused investors to pull their money from banks. The second event occurred when Argentine 

president, Fernando de la Rua, limited how much could be withdrawn from banks. As a result, many businesses failed 

because they couldn’t access enough money. The protests that followed de la Rua’s decision to limit withdrawals forced him 

to resign. 

① President de la Rua’s policies caused Argentina’s credit rating to drop. 

② Investors trusted Argentina’s banking system after the collapse. 

③ Many Argentinean companies had enough money to stay in business. 

④ President de la Rua’s law limiting withdrawals was met with anger. 

 

 

 

 

 



5. 다음 글의 내용과 일치하는 것은? 

DDT is a chemical pesticide that has been shown to be highly effective in killing insects. It was first synthesized in 1874, but 

didn’t achieve widespread use until its applicability to agriculture was discovered during the middle of the twentieth century. 

It quickly became a popular agricultural product, but its popularity was sharply reduced once it was linked with negative 

impacts on the environment and human health. Nowadays, the use of DDT has been banned in North America and Europe, 

while some countries like South Africa and Thailand use the chemical solely in their fight against malaria-carrying 

mosquitoes. 

① DDT는 질병을 유발하는 모기에 사용되면 효과가 없었다. 

② DDT는 처음에 농작물을 곤충으로부터 보호하기 위한 농업 수단으로 사용되었다. 

③ DDT의 이용으로 인해 생태학적인 피해가 발생했다. 

④ 남아프리카와 태국은 DDT의 사용을 금지했다. 

 

 

6. 다음 글의 내용과 일치하는 것은? 

Over the past two years, oil prices have nearly doubled. This has hurt the revenues of airlines worldwide, forcing many 

carriers to increase their fuel surcharges in order to compensate. The average international fare has increased 40 percent over 

that time frame as a result, and domestic ticket prices are up nearly 25 percent. The pricing moves were expected to return 

profits to previous levels, before the spike in fuel prices, but this hasn’t been the case. The change has caused customers to 

cancel their air travel plans on economic grounds. According to revenue projections, most major airlines are now operating at 

a loss. 

① Airlines are amassing larger supplies of fuel. 

② Overseas airfares have risen by 25 percent. 

③ Profits in the airline industry are increasing once again. 

④ Revenue has gone down for much of the airline industry. 

 

 

7. 다음 글의 내용과 일치하지 않는 것은?  

Groundwater accumulates deep under the earth’s surface at a point called the water table. When it rains, precipitation is 

absorbed by the soil and the force of gravity causes it to slowly seep downward. If the water travels down far enough, it 

reaches the water table, where it begins to move horizontally as opposed to vertically. Eventually, it merges with the closest 

body of water that reaches an equivalent depth, which is typically an ocean or river. Upon reaching the ocean, water works 

its way into clouds again through the processes of evaporation and condensation, and ultimately returns to the surface as 

rain. 

① Groundwater is eventually released as rain. 

② Moisture must move vertically through the soil.  

③ The water table is what feeds oceans and rivers. 

④ Condensation is part of the process of cloud formation. 

 

 

8. 다음 글의 내용과 일치하는 것은? 

A new form of cement has been proven to help reduce air pollution. The cement contains titanium dioxide, a nontoxic 

molecule that destroys atmospheric pollutants like nitrous oxide and sulfur oxide that are emitted in automotive exhaust. 

When exposed to light, it interacts with the harmful pollutants and breaks them down into harmless compounds that can be 

washed away by rain. Although the cement is more expensive to produce than the traditional form, it also stays cleaner 

because pollutants don’t bind to it, thereby reducing upkeep costs. Environmental groups are urging property developers to 

use the product in their construction projects. 

① Titanium dioxide is not a harmful chemical. 

② The cement needs rainwater to block pollutants. 

③ Upkeep of the cement is difficult to manage. 

④ Environmentalists are skeptical of the product. 

 

 

 



9. 다음 글의 내용과 일치하지 않는 것은? 

The Aborigines of modern-day Australia have the oldest continuously existing culture in the world. The Aborigines are 

believed to have arrived on the continent in 50,000 BC, an estimate confirmed by dating procedures done on stone tools and 

paint fragments found by archaeologists. However, DNA evidence tracing the genetic drift between cultures is suggesting an 

even earlier arrival date for these indigenous Australians of around 70,000 BC. At peak levels, Aboriginal Australia boasted a 

population of over 750,000, before being colonized by the British in the eighteenth century. During the early colonial period, 

disease and war caused the population level to drop nearly 80 percent.  

① No other cultures have continually existed as long as that of the indigenous Australians. 

② Evidence suggests that early Aborigines used stone tools and practiced painting. 

③ DNA testing indicates the Aborigines arrived 20,000 years later than previously thought. 

④ The arrival of the British caused a dramatic drop in the population of Aborigines. 

 

 

10. 다음 글의 내용과 일치하지 않는 것을 고르시오.  

Henry Ford is most famous for the design of an automobile affordable enough for the American public. However, his most 

lasting influence was the development of a system of mass production. The Ford Motor Company, established in 1903, 

revolutionized manufacturing by introducing new labor policies and methods of production. Ford offered his plant workers a 

daily wage of five dollars, roughly double the typical rate. He also introduced a standard eight-hour workday. This allowed 

him to attract many of the best workers from his competitors. Within his plants, Ford combined labor specialization with the 

use of assembly lines to maximize production. Under the new system, a complete car frame could be assembled every 93 

minutes, compared to every 728 minutes using previous methods. The obvious success of Ford’s system led to its adoption by 

other US manufacturers, as well as many companies around the world. 

① Henry Ford designed the first car produced in the United States. 

② Henry Ford manufactured inexpensive cars for the general public. 

③ Workers made more money working for Ford than the industry norm. 

④ Workers in Ford’s plants were assigned to specific tasks. 

 

 


